Lifetime Limited Warranty

Your A.M.G. Medical Inc. product is warrantied to be free of defects in
materials and workmanship for the lifetime of the product for the original
consumer purchaser.

This product has been built to provide you with reliable service throughout its
useful life. It meets strict quality standards designed to ensure the product can
play its role, as expected. The Lifetime Limited Warranty is a sign of our
commitment to deliver the value that we have promised to you.

This warranty does not cover device failure due to owner alteration, misuse
or negligence, or normal wear and tear. The warranty does not extend to
non-durable components, such as rubber accessories, casters, and grips,
which are subject to normal wear and need periodic replacement.

For warranty service and general inquiries in Canada and the U.S., call our
customer service team at 1-800-363-2381.

Garantie limitée a vie
A.M.G. Médical Inc. garantit a vie ce produit contre tout défaut matériel ou de
fabrication. Cette garantie n’est valable que pour I'acheteur du produit neuf.

Ce produit a été congu pour vous fournir un service fiable tout au long de sa
durée de vie. Il répond a des normes de qualité strictes congues afin d’assurer
un produit qui saura correspondre a vos attentes. La garantie limitée a vie
témoigne de notre engagement a fournir un produit de qualité tel que vous
nous l'avons promis.

Toute altération, abus, usage impropre ou dommage accidentel annule cette
garantie. La garantie ne couvre pas les composants non-durables, tels que les
accessoires en caoutchouc, les roulettes et les poignées, qui sont soumis a une
usure normale et nécessitent un remplacement périodique.

Pour le service, ou pour toutes questions au Canada et aux Etats-Unis,
contactez notre service a la clientéle au 1-800-363-2381.

To learn more about this or any other A.M.G. product, please contact
your A.M.G. Medical Inc. representative or call toll-free: 1-800-363-2381.

Pour en savoir plus sur les produits d'A.M.G. Medical Inc., communiquez avec
votre représentant A.M.G. ou composez sans frais le 1-800-363-2381.

A.M.G. Medical Inc.
Montréal, Québec
H4T 1V5 Canada
www.amgmedical.com

l::l MG,

MEDICAL

Rev 10919 P/N 911-770740

Model / Modele: 770-740
ASSEMBLY INSTRUCTIONS
INSTRUCTIONS D’ASSEMBLAGE

The Professional Choice
Le choix des professionnels

Hamper Stand
Support de panier a linge




Figure 3

Figure 2

Figure 1

Step 1
Fasten locking casters to the front end of base. Fasten non-locking casters to the
rear end of base. Use (1) each of the 3/8” lockwasher (H).

Step 2
Insert the (2) tubular uprights (B) until their snap pins interlock with the pin holes
in base (A). (Figure 2)

Step 3
Attach the tubular top frame and lid subassembly (C) to the tubular uprights (B)
until the snap pins interlock with the hole in the tube. (Figure 2)

Step 4

Assemble bag holder rod (E) through on of the tubular upright (B). Insert the
vinyl pouch (F) and through the other tubular upright. Secure ends using

the (2) 1/4” lock nuts (G).

Step 5
Connect the 2 rod pieces (D) by securing the nut.

Step 6

Assemble one end of each connecting rod (D) through the holes in lid. (Figure 3)
The rod ends must face outward. Secure the ends with the 1/4” lock nuts and
plastic washer.

Step 7
Assemble the opposite ends of the rods into the foot pedal. (Figure 4) The rod ends
must face inward. Secure the ends with the %4” lock nuts and plastic washer.

Etape 1
Fixer les roulettes avec verrou a I'avant de la base et les roulettes sans verrou a
I'arriere. Pour chaque roulette, utiliser une (1) rondelle 3/8” (H).

Etape 2
Insérer les deux (2) tubes verticaux (B) dans la base (A) jusqu’a ce que les
boutons-poussoirs soient verrouillés. (Figure 2)

Etape 3
Insérer le cadre supérieur et le couvercle (C) dans les tubes verticaux (B) jusqu’a
ce que les boutons-poussoirs soient verrouillés. (Figure 2)

Etape 4

Insérer la tige du porte-sac (E) dans un des tubes verticaux (B). Inserez la tige dans
le sac de vinyle (F) et dans l'autre tube vertical. Fixer-la en utilisant les deux (2)
contre-écrous de 42" (G).

Etape 5
Connecter les deux embouts de chaque bielles (D) a I'aide des écrous.

Etape 6

En vous assurant que les embouts soient tournés vers I'extérieur, insérer un embout
de chaque bielle (D) dans les trous situés dans le couvercle. Fixer a I'aide des
contre-écrous de '4” et de la rondelle de plastique. (Figure 3)

Etape 7

Assembler les autres embouts des bielles dans la pédale en vous assurant qu’ils
soient tournés vers l'intérieur. (Figure 4) Verrouiller a I'aide des contre-écrous de %4”
et de la rondelle de plastique.



